

$$2\frac{5}{10} - 1\frac{5}{9} =$$

$$1000\frac{9}{10} + 8\frac{6}{8} =$$

$$\frac{4}{5} - \frac{3}{10} =$$

$$6\frac{7}{9} + 1\frac{3}{8} =$$

$$4\frac{7}{8} - 2\frac{5}{10} =$$

$$1000\frac{4}{7} + 5\frac{5}{11} =$$

$$\frac{3}{10} + \frac{9}{6} =$$



$$2\frac{5}{10} - 1\frac{5}{9} = 2\frac{45}{90} - 1\frac{50}{90} = 1\frac{135}{90} - 1\frac{50}{90} = \frac{85}{90} = \frac{17}{18}$$

$$1000\frac{9}{10} + 8\frac{6}{8} = 1000\frac{36}{40} + 8\frac{30}{40} = 1008\frac{66}{40} = 1009\frac{26}{40} = 1009\frac{13}{20}$$

$$\frac{4}{5} - \frac{3}{10} = \frac{8}{10} - \frac{3}{10} = \frac{5}{10} = \frac{1}{2}$$

$$6\frac{7}{9} + 1\frac{3}{8} = 6\frac{56}{72} + 1\frac{27}{72} = 7\frac{83}{72} = 8\frac{11}{72}$$

$$4\frac{7}{8} - 2\frac{5}{10} = 4\frac{35}{40} - 2\frac{20}{40} = 2\frac{15}{40} = 2\frac{3}{8}$$

$$1000\frac{4}{7} + 5\frac{5}{11} = 1000\frac{44}{77} + 5\frac{35}{77} = 1005\frac{79}{77} = 1006\frac{2}{77}$$

$$\frac{3}{10} + \frac{9}{6} = \frac{9}{30} + \frac{45}{30} = \frac{54}{30} = 1\frac{24}{30} = 1\frac{4}{5}$$

